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9. (a) Derive the Weddle's rule of numerical in- A (Printed Pages 8)

tegration. Roll No.

Decekedked meceekedueve ked eueS Je[ue ked meSe kede Yeele
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(b) Using Simpson's 3/8 rule, obtain the ap- MATHEMATICAL STATISTICS
J1 1
proximate value of ( ard dx . Second Paper

mechemeve ki 3/8 evelece Eeje . (Statistical Methods & Numerical Statistics Analysis)

1 1 Time Allowed : Three Hours] [Maximum Marks: 33
C @ +x9) AX fede coeve evekedeeueS~
0 Note : Attempt Five questions in all, taking one

question from each Unit. Question No. 1
is compulsory.
lelUeled FheieF me Sked OeMve uele nS, keiue hecUe fevee kede
nue kedeepeS~ febve me.1 DeeveleeUe n~
1. (a) Explain 'variable' and 'attribute’ with ex-
ample.

‘ieCe’ leLee “Uej’ kede GoenjCe meenle mecePeeF e~

S-694 P.T.O.



(b)

(©)

(d)

(e)

Q)

S-694
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Show that A.M. 3 G.M.
eoKeeFS ehed A.M. 2 G.M.

Explain Kurtosis.

fedhedolee kede mecePeeFS~

What is rank correlation? Give its limits.
fedeeS menmecyevOe kelee n? Fmekede meeceeS oeepeS~

IfR, ,,=1, then write the regression equa-

tion for it.
Ueo R, =1, lez Fmelede meceeBelieCe jKee eueeKeS~

What do you understand by partial cor-
relation coefficient? Give expression for
r,, , in terms of total correlation coeffi-
cients.

Deche DeseMeked menmecyevOe ieCosked me kel mecePele n?

ry, o 6 eucle mecheCe mecemecyevOe ieCeelede ked  ce

(7)

Deelece yeejcyeej lee keUee n? leeve ieCet kede menelelee me mecePeeFUe~

7. Describe various measures of association. Find

c? for 2x2 table.

mecyevOee ked ceeheve hede eleeYeVe eleeOelee

JeCeve kedeepeS~

22 meejCee ked eueS c2 Kede coave Deehle kedeepeS~

unit-1v

FleaeF-1v

8. (a) State and prove Newton's forward for-

mula for interpolation.

vUeSve ked DevleleMeve kede Deecece mefe eugeKeS leLee Fme

emeae  kedeepeS~

(b) Prove that :

U, =U_,+DU _,+CF U _,+...+0"'U, , +DU,

U, =U_,+DU _, +C U 5 +...+ DU

S-694

emeae KedeepeS eled
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Unit-1
FheteF- 1
Define different measures of central tendency.
Let x; and s, be the mean and standard devia-
tion respectively obtained from a set of n, ob-
servations for i = 1, 2. If S represents the
standard deviation of the combined set of

n,+n, observation, show that :

SZ
n+n, (0 +n,)’

(il - )_(2)2 .
fedvoeUe fedee0e kede eleeYeVe coefiee Kede fieejYeecee ogepeS~  Ueeo
n., i =1, 2 [e#eCer Jeeue mecene keb ceeUe Jo ceeveled eleleueve

ticeMe: X, leLee s, ne Deej oevee mecene kede eceueekedj n +n,

leseCes kede ceeveked edeeueve S ne lee emece hedeepeS eked

SZ
n+n, (0 +n,)’

(il - )_(2)2 .
(a) What is dispersion? Explain the meaning

of skewness and discuss how skewness

S-694

(b)

€Y

(b)

S-694

(5)

and kurtosis can be measured?
lemejCe kelee n? elececeles Meyo ke Dele mecePeeFS leLes
yeleeFUe ehed elececeles Sk Kedleioles lede ke e costee peelee n?
Prove that : b, 3 b,
emege kedeepeS ehed P2 ba

Unit-11

FhedeF-11
Describe the method of least squares in
curve fitting.
Joed Deemepeve ce vUevelece Jeie emeeevle keie eeFUe~
Define correlation. Obtain the limits be-
tween which the correlation coefficient
lies.
menmecyevOe ieCeeke kede heejYeeee oeepeS~ Gve megceeDee
bede ieCevee kedeepeS epeveked Devleiele menmecyevOe ieCeeked

fede ceeve jnlee n~

P.T.O.



5 (@)

(b)

(6)
Inatrivariate distribution s, =2,s, =3 = s3,
r12=0.7, r23=0.5=r31. Find Mo and R1_23.
Sked eSelej yeSve c¢ U0 s, =2, s, =3 = s,
r,=0.7,r,,=05=r_ng ler,  lleR
fede coeve Yeele hedeepeS~
Obtain the equation of regression plane
of X, on X, and X,.
X, lefe X, Deej X, bej meceefeleCe leue Kefe meceskedjCe
lgele kedeepeS~

Unit-111

FledeF-111

6. Discuss the classification of attributes. What

are class frequencies and ultimate class fre-

quencies? Explain with the help of three at-

tributes.

ieCee ed JeieckedjCe kele JeCeve hedecpeS~ Kedttee yeejcyeejlee Sle

S-694

(9)

(h)

a

S-694

3)
Jepehed eueeKeS~

Write the conditions for independence
and association of two attributes A and

B.

o¢ itCee A Deej B ked meleSe Sk meenUele neve ke

leeleyevOe eugeKeS~

Define interpolation and write down the
fundamental assumptions for interpola-

tion.

DeevlejieCeve kede heejYeecee oepeS leLee DeevlejieCeve ce

ceue KeduneveeDee Kede eugeKeS~

Prove that : (1+D) (1- N)° 1
emeae KedeepeS eed © (L+D) (- N)°o 1
Define Simpson's 1/3 rule.

emechemeve kA 1/3 evelece kede heej Veecee ogepeS~

P.T.O.
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